

Multiply by 10^{-1} (H)

Find each product.

$$23 \times 10^{-1} =$$

$$79 \times 10^{-1} =$$

$$19 \times 10^{-1} =$$

$$64 \times 10^{-1} =$$

$$56 \times 10^{-1} =$$

$$27 \times 10^{-1} =$$

$$86 \times 10^{-1} =$$

$$97 \times 10^{-1} =$$

$$7 \times 10^{-1} =$$

$$47 \times 10^{-1} =$$

$$57 \times 10^{-1} =$$

$$56 \times 10^{-1} =$$

$$60 \times 10^{-1} =$$

$$8 \times 10^{-1} =$$

$$74 \times 10^{-1} =$$

$$90 \times 10^{-1} =$$

$$76 \times 10^{-1} =$$

$$65 \times 10^{-1} =$$

$$36 \times 10^{-1} =$$

$$67 \times 10^{-1} =$$

Multiply by 10^{-1} (H) Answers

Find each product.

$$23 \times 10^{-1} = 2,3$$

$$79 \times 10^{-1} = 7,9$$

$$19 \times 10^{-1} = 1,9$$

$$64 \times 10^{-1} = 6,4$$

$$56 \times 10^{-1} = 5,6$$

$$27 \times 10^{-1} = 2,7$$

$$86 \times 10^{-1} = 8,6$$

$$97 \times 10^{-1} = 9,7$$

$$7 \times 10^{-1} = 0,7$$

$$47 \times 10^{-1} = 4,7$$

$$57 \times 10^{-1} = 5,7$$

$$56 \times 10^{-1} = 5,6$$

$$60 \times 10^{-1} = 6$$

$$8 \times 10^{-1} = 0,8$$

$$74 \times 10^{-1} = 7,4$$

$$90 \times 10^{-1} = 9$$

$$76 \times 10^{-1} = 7,6$$

$$65 \times 10^{-1} = 6,5$$

$$36 \times 10^{-1} = 3,6$$

$$67 \times 10^{-1} = 6,7$$